
  6.80in
172.7mm

  

  7.55in
191.8mm

  

  6.05in
153.7mm

  

  4.17in
105.8mm

  

  0.91in
23.2mm

  

  0.99in
25.1mm

  

  2.01in
51.1mm

  
  3.00in

76.2mm
  

1.55in
39.3mm

  8.00in
203.2mm

  

  1.18in
30.0mm

  

  1.18in
30.0mm

  
4-40 MOUNTING HOLE
FOR USE WITH ER SERIES RODS
4 PLACES

M3 x 0.5 TAPPED HOLE
4 PLACES

M4 x 0.7 TAPPED HOLE
4 PLACES

M2.5x6mm SCREWS
1.5mm HEX
2 PLACES 

  8.66in
219.8mm

  

  8.00in
203.2mm

  

  1.00in
25.4mm

  

  1.50in
38.1mm

    2.00in
50.8mm

  

  0.50in
12.7mm

  

  1.00in
25.4mm

  

  1.50in
38.1mm

  

  2.00in
50.8mm

  

  2.75in
69.9mm

  

4-40 TAPPED HOLE
2 PLACES

M4 x 0.7 TAPPED HOLE 
7 PLACES

  1.18in
30.0mm

    1.59in
40.4mm

  

  2.00in
50.8mm

  
1.00in

25.4mm

  1.18in
30.0mm

  

  1.48in
37.6mm

  

  1.24in
31.5mm

  

  2.00in
50.8mm

  

4 x 6 mm MOUNTING HOLE
FOR USE WITH ER SERIES RODS
4 PLACES

DIAPHRAGM CONTROL

  4.41in
111.9mm

  

A

WFA1100

MATERIAL
DRAWN

APPROVAL REV
TB
PN

07/JUN/16
DATE

07/JUN/16

w w w . t h o r  l a b s . c o m

ITEM # APPROX WEIGHT
N/A

1.6 kg
VALUES IN PARENTHESIS ARE CALCULATED
AND MAY CONTAIN ROUNDOFF ERRORS

DRAWING
PROJECTION

NAME
DODT GRADIENT CONTRAST MODULE

COPYRIGHT © 2016 BY THORLABS FOR INFORMATION ONLY 
NOT FOR MANUFACTURING PURPOSES



1

2

3

REMOVE USING A #1 PHILIPS HEAD SCREWDRIVER

NOTE: REMOVE DIFFUSER TO RUN DODT CONTRAST. 
TO RUN BRIGHTFIELD USING THIS MODULE, 
KEEP DIFFUSER IN, AND REMOVE ROTATION MOUNT 
SHOWN ON THE NEXT PAGE

BOM

1 DIFFUSER SLIDER

2 COVER

3 M2.5 x 6mm FLAT HEAD MACHINE SCREWS

A

WFA1100

MATERIAL
DRAWN

APPROVAL REV
TB
PN

07/JUN/16
DATE

07/JUN/16

w w w . t h o r  l a b s . c o m

ITEM # APPROX WEIGHT
N/A

1.6 kg
VALUES IN PARENTHESIS ARE CALCULATED
AND MAY CONTAIN ROUNDOFF ERRORS

DRAWING
PROJECTION

NAME

FOR INFORMATION ONLY 
NOT FOR MANUFACTURING PURPOSES

COPYRIGHT © 2016 BY THORLABS 

DODT GRADIENT CONTRAST MODULE



STEP1: 
REMOVE COVER AND
2.5mm x 6 SCREWS
USING A 1.5mm HEX 

DODT MASK NA 1.0
1'' 50  CIRCLE 

PATTERN DIFFUSER

SM1 Retaining Ring

DETAIL A
SCALE 2 : 3

STEP  2: 
REMOVE ROTATION MOUNT 
TO REPLACE MASK. SEE DETAIL A

LOOSEN LOCKING SETSCREW
0.05in [1.3mm] HEX
2 PLACES (BOTH SIDES)
AND SLIDE OUT ROTATION MOUNT

 

DODT MASK NA 0.8

DODT MASK NA 0.65

DODT MASK NA 0.5

DODT MASK NA 0.3

THE FOLLOWING ADDITIONAL MASKS ARE INCLUDED:

A

WFA1100

MATERIAL
DRAWN

APPROVAL REV
TB
PN

07/JUN/16
DATE

07/JUN/16

w w w . t h o r  l a b s . c o m

ITEM # APPROX WEIGHT
N/A

1.6 kg
VALUES IN PARENTHESIS ARE CALCULATED
AND MAY CONTAIN ROUNDOFF ERRORS

DRAWING
PROJECTION

NAME

FOR INFORMATION ONLY 
NOT FOR MANUFACTURING PURPOSES

COPYRIGHT © 2016 BY THORLABS 

MASK AND ACCESSORIES FOR DODT


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet2
	Drawing View9

	Sheet3
	Drawing View21
	Drawing View26
	Drawing View30
	Drawing View31
	Drawing View33


